> _—&

ZHANGOCO
SHAEZRYERR

*

SUHREER
=+BEE41 50/60 Hz

[E4a1R1E

2= M 2RB 210 %l 2RB 590

hESuH :

HIHINE
BEE

SR

2= M 2RB 610 %l 2RB 790

hESEH -

HIHINE
BEE

WSE :

2= M 2RB 810 %l 2RB 943

hESH :

HIHINE
BEE :

WSE -

G-2RB %%l

0.25 %] 4.0 kW
Fl) A p=490 mbar(P)
80 & 330 m3¥h

1.6 B] 7.5 kW
Zl) A p=670 mbar(P)
265 % 600 m¥h

4.0 & 29.0 kW
Fl| A p=750 mbar(P)
500 #l| 2450 m3/h

1 04/2010 RS HIRA



& ——

BT S

Hz kW \" A

2RB 210 H16

50

0.4

200-240 A /345-415Y

2612 /1.5Y

60

0.5

220-275 A /380-480Y

26 A /1.5Y

kg dB(A)
10 | 53
56

2RB 230 H06

50

0.25

200-240 A /345-415Y

21A/1.2Y

60

0.29

220-275 A /380-480Y

1.7 A /1.0Y

57

2RB 230 H26

50

0.7

200-240 A /345-415Y

3.8A/2.2Y

60

0.83

220-275 A /380-480Y

3.8A/2.2Y

57

2RB 310 H16

50

0.75

200-240 A /345-415Y

3.8/ /2.2Y

60

0.83

220-275 A /380-480Y

3.8/ /2.2Y

2RB 320 H36

50

1.3

200-240 A /345-415Y

5.7 A /3.3Y

60

1.5

220-275 A /380-480Y

6.0 A /3.5Y

60

2RB 330 H16

50

0.75

200-240 A /345-415Y

3.8A/2.2Y

60

0.83

220-275 A /380-480Y

3.8 /2.2Y

58

2RB 410 H16

2RB 420 H36

2RB 430 HO06

2RB 430 H26

16 | 63
64
25 | 66

50 0.85 200-240 A /345-415Y 4.0A/2.3Y
60 0.95 220-275 A /380-480Y  |3.85 A /2.25Y
50 1.6 200-240 A /345-415Y 7.5A /4.3Y
60 2.05 220-275 A /380-480Y 7.6 A [4.4Y
50 0.7 200-240 A /345-415Y 3.8A/2.2Y
60 0.83 220-275 A /380-480Y 3.8 A /2.2Y
50 1.3 200-240 A /345-415Y 6.6 A /3.8Y
60 1.5 220-275 A /380-480Y 6.9 A /4.0Y

65

04/2010 AR S B A



200-240 A /345-415Y 4.0A/2.3Y
220-275 A /380-480Y [4.2 A [2.4Y

2RB 510 HO06

. - A - S A4,
JRB 510 H26 50 1.6 200-240 A /345-415Y | 7.5 /1 /4.4Y 23 64
60 2.05 220-275 A /380-480Y | 7.6 A /1.0Y 70
JRB 520 H46 50 3.0 200-240 A /345-415Y |12.5A[7.2Y 40 72
60 3.45 220-275 A /380-480Y | 2.6 A [7.3Y 74

50 0.85 200-240 A /345-415Y | 4.0A [2.3Y 21 65

2RB 530 HO06

220-275 A [380-480Y |4.2A [2.4Y

200-240 A /345-415Y | 7.5A /A.3Y
220-275 A /380-480Y | 7.6 A /4.4Y

2RB 530 H26

50 1.1 200-240 A /345-415Y | 5.7 A [3.3Y 23 64

2RB 590 H26

60 1.7 220-275 A /380-480Y | 6.0 A /3.5Y 70

3 04/2010 ARSI A



50 Hz & BIE%

300

250

Q0.85

200 ~

[m¥/h]——

mSg

02.2

0 100 200 300 400 500
RIEZE A p [mbar] ———

60 Hz B EER

350

300

250

200

150

100

%58 [m¥h]—>

50

0 T . ' T T T
0 100 200 300 400 500
BEZE A p [mbar]———

4 04/2010 $HARSEARA



EBFNITI S

2RB 610 H16

2RB 630 HO06

2RB 630 H26

2RB 710 H16

50 2.2 200-240 A /345-415Y 9.7 A /5.6Y
60 2.55 220-275 A /380-480Y | 10.3 A /6.0Y
50 1.6 200-240 A /345-415Y 8.5/ /4.9Y
60 2.05 220-275 A /380-480Y 8.8 A /5.1Y

200-240 A /345-415Y

1257 [7.2Y

2.2

220-275 A /380-480Y

200-240 A /345-415Y

12.6 A /7.3Y

9.7 A [5.6Y

kg | dB(A)
28 69
72

26 70
73

;
73

30 69

2.55

220-275 A /380-480Y

10.3 2 /6.0Y

2RB 710 H37

4.0

345-415 A /600-720Y

9.0 A /5.2Y

4.6

380-480 A /660-720Y

9.0 /5.2Y

40 63

2RB 720 H26

3.0

200-240 A /345-415Y

1252 /7.2Y

3.45

220-275 A /380-480Y

12.6 A [7.3Y

2RB 720 H47

2RB 730 HO06

2RB 730 H26

2RB 740 H37

2RB 740 H57

50 5.5 345-415 A /600-720Y | 4.0 A /2.3Y 66 73
60 6.3 380-480 A /660-720Y | 4.2 A [2.4Y 76
50 1.6 200-240 A /345-415Y | 8.5 A /4.9Y 29 70
60 2.05 220-275 A /380-480Y | 8.8A/5.1Y 73

54

50 3.0 200-240 A /345-415Y | 125 A 17.2Y
60 3.45 220-275 A /380-480Y | 12.6 A [7.3Y
50 4.0 345-415 A /600-720Y 9.0 A /5.2Y
60 4.6 380-480 A /660-720Y | 9.0 A /5.2Y
50 7.5 345-415 A /600-720Y | 16.7 A /9.6Y
60 8.6 380-480 A /660-720Y | 17.3 A /10.0Y]

04/2010 AR SH A



50 Hz £ BB

600

500

400

300

0 100 200 300 400 500 600
BEZEA p [mbar] ———

60 Hz & BIE%&

600
500 - 45,
’P@)
%, o
S
400 - 20890
2RB 720 - 6.3
9'?@)9 55
300 - S > 3'445
Q .
T o 2D 08)70 4.8
< 2D o0 6.3
£ 200 - A\ NN
Elﬂ 5 8.6
2.0

= N 2'52.45 4.6

100 A 3.45

0 T T T T T T
0 100 200 300 400 500 600 700

BEEA p [mbar] ———=

6 04/2010 HARSHARA




EBANIT S5

Hz KW v A kg | dB(A)
50 4.0 345-415 A /600-720Y | 9.5 A /5.5Y 54 | 70
e GO [l 60 46 380-480 4 /660-720Y | 9.5 A /5.5Y 74
oRB 810 H17 50 5.5 345-415 A /600-720Y | 12.9 A /7.4Y 63 | 70
60 6.3 380-480 A /660-720Y | 12.9 A /7.45Y 74
50 7.5 345-415 A /600-720Y | 16.7 A /9.6Y 66 | 70
2RB 810 Har 60 8.6 380-480 4 /660-720Y | 17.3 A /10.0Y 74
50 5.5 345-415 A /600-720Y | 13.3 A /7.7Y 83 | 74
2RB 820 H17 60 6.3 380-480 4 /660-720Y | 13.3 A /7 7Y 78
50 7.5 345-415 A /600-720Y | 16.7 A /9.6Y 86 74
Az by 60 8.6 380-480 2 /660-720Y | 17.3 2 /10.0Y 78
50 11.0 345-415 A /600-720Y | 28.0 A /16.2Y | 104 | 74
2RB 820 H37 60 12.6 380-480 - /660-720Y | 10.3 A /6.0Y 78
50 15.0 345-415 A /600-720Y | 32.5 A /18.8Y | 120 74
AE R ik 60 17.3 380-480 A /660-720Y | 34.5 A /19.9Y 78
50 4.0 345-415 A /600-720Y | 9.5 A /5.5Y 57 70
2RB 830 HO7 60 46 380-480 2 /660-720Y | 952 /5.5Y 2
50 55 345-415 A /600-720Y | 12.9 A /7.4Y 66 70
Al B [kl 60 6.3 380-480 A /660-720Y | 12.9 A /7.45Y 74
50 7.5 345-415 4 /600-720Y | 16.7 & /9.6Y 69 70
2RB 830 H27 60 8.6 380-480 4 /660-720Y | 17.3 A /10.0Y 74
50 7.5 345-415 A /600-720Y | 16.74/9.6Y | 91 74
2RB 840 Har 60 8.6 380-480 2 /660-720Y | 17.3 4 /10.0Y 78
oRB 840 H37 50 11.0 345-415 A /600-720Y_| 28.0 A /16.2Y] 110 | 74
50 12.6 380-480 A J660-720Y | 29.0 2 /16.7Y 78
2RB 910 Ho7 50 8.5 345415 4 /600-720Y | 1824 /105Y] 93 74
60 98 380-480 A /660-720Y | 18.2 A /10.5Y 79
9RB 910 H17 50 12.5 345-415 A /600-720Y | 28.0 A /16.2Y | 116 | 74
60 14.5 380-480 A /660-720Y | 29.0 & /16.7Y 79
TG, 50 18.5 345-415 £ J600720Y 3705 21.0Y] 126 |74
60 21.3 380-480 A /660-720Y | 39.0 A /92.5Y 79
JRB 920 H17 50 12.5 345-415 A /600-720Y |28.0 A /16.2Y | 187 | 74
60 14.5 380-480 4 /660-720Y | 29.0 £ /16.7Y 84
2RB 920 H27 50 16.5 345-415 A /600-720Y 35.0 A /20.0Y 197 74
60 19.0 380-480 A /660-720Y | 36.5 A /21.0Y 84—
RB 920 H37 50 20.0 345-415 £ /600-720Y | 40.0 A /23.0Y | 204 | 74
60 23.0 380-480 4 /660-720Y | 42.0 A /24.0Y 84
RB 920 HaT 50 25.0 345-415 £ /600-720Y 5204 /300Y ] 211 | 74
60 29.0 380-480 A /660-720Y | 52.0 A /30.0Y B
50 8.5 345-415 £ /600-720Y_ | 18.2 A /105Y | 98 | 75
2RB 930 Ho7 60 9.8 380-480 2 /660-720Y | 18.2 2 /10.5Y 80
RB 930 H17 50 12.5 345-415 2 /600-720Y | 28.0 A /16.2Y | 121 | 75
60 145 380-480 A /660-720Y | 29.0 A /16.7Y 80
50 18.5 345-415 A /600-720Y |37.0 A /21.0Y | 131 | 75
2RB 930 H37 60 21.3 380-480 2 /660-720Y | 39.0 2 /22 5Y 80
60 17.5 380-480 4 /660-720Y | 36.5 A [21.0Y 84
50 200 | 200-240 A /345-415Y |40.0 ~ /23.0Y | 212 | 75
2RB 940 H37 60 23.0 220-275 £ [380-480Y |42.0 A [24.2Y 84
50 250 | 3454154 /600-720Y |52.0 A /30.0Y | 219 | 75
2RB 940 H47 60 29.0 | 380-480 4 /660-720Y |52.0 & /30.0Y 84
) 50 15.0 | 345-415A /600-720Y |35.0 A /20.0Y | 220 | 75
2RB 943 H27 60 17.5 | 380-480 2 /660-720Y |36.5 A /21.0Y 84
) 50 200 | 345415~ /600-720Y |40.0 4 /23.0Y | 230 | 75
S e ey 60 25.0 380-480 2 /660-720Y |42.0 A [24.2Y 84
JRB 943 H47 ! 50 29.0 345-415 A /600-720Y |52.0 A /30.0Y | 235 | 75
60 6.3 380-480 2 /660-720Y |52.0 2 /30.0Y 84

04/2010 FARSHARA



50 Hz £ B E| %R

2500

2000

1500

1000 H~

T 16.5
il ) 20
< 025
£
g} = 2RB '

500 820 5
r C o18.
Jé 2R8810 55 — 1a 011 | 18.5

4 i\ 7.5
55 11 ©15
7.5
0 T T T T T T
0 100 200 300 400 500 600 700

BEZEA p [mbar] ——

60 Hz & BIE%

2500

RS2 [m¥h]—>

0 T T T T T T T
0 100 200 300 400 500 600 700 800
BEZEA p [mbar] ——

8 04/2010 ARSI A



2RB210

2RB230 YxZ YV —G—
2RB310 VoW
2RB330 /b
YxZ 120
- - = R I R
< ‘ o
=
s
= = /M
<=
= | |
! ; ; 1200
2 »Nf-LKa‘- M-S
g L =
3 F &
z
7] =
s L X-FLAL
A F G N P R V] Vi e Vi) Viiad YxZ X
2RB 210 HO06 3~ 246 219 | 92 7 Gl 10 Méx17 - - M25x1.5 | M16x1.5 | M6x15 0°/120°/240° 140
2RB 210 H16 3~ 256 | 135 - - M25x1.5 | M16x1.5
2RB 230 HO06 3~ 242 | 102 82 - - M25x1.5 | M16x1.5
2RB 230 H16 3~ 267 | 135 - -
2RB 230 H26 3~ - -
2RB 310 HO06 3~ 268 260 69 - - M25x1.5 | M16x1.5 160
2RB 310 H16 3~ - -
2RB 330 HO06 3~ 276 85 - - M25x1.5 | M16x1.5
2RB 330 H16 3~ - -
2RB220 A v
X
2RB320
2RB420 =
YxZ
5 1 ok
5 L
- \ IS
= 120
= \
oR =
0 z
E
) =2 3 .
S tafr . . X-FLAL
A E F M 0 P R T V] V- Vit Vi) V43 a | eX | YxZ
2RB 220 H26 3~ 284 230 | 316 75 39 Giu(15tief deep) 10 88 | M6éx17 - - M25x1.5 | M16x1.5 | 27° | 140 | M6x15 51°M71°1291°
2RB 320 H36 3~ 293 354 82 41 92 - - 160
2RB 420 H36 3~ 322 255 | 401 73 g G1z(15tief deep) 12 104 | M6x19 - - M25x1.5 | M16x1.5 | 28° | 174
2RB 420 H46 3~ - -

04/2010 AR SHMRA




=

— G —

2RB410 Vi
2RB430
2RB490 vy

~<
~

—

sz/L\\\zn'

e —

N

$X-Ix120°

{ S
u < £ L] = /
/ - /K
#R \
Il Il
‘D 1 ; _ o
2 | z
N K n—I|2 2
e Z I
e z
E S X-Fl4z
A B C D E F G H J K L M N 0 P Q|[oR| S U Vit Vi) Vis) Vigsy YxZ oX
2RB 410 HO6 3~ 286 | 302 | 115 | 225 | 255 | 269 | 135 [ 154 | 111 | 95 | 130 | 70 75 | 46 Gliz 72 | 12 3 | M6x19 - - M25x1.5 | M16x1.5 174
2RB 410 H16 3~ 292 | 160 120 - -
2RB 410 H26 3~ - -
2RB 430 HO06 3~ 288 | 135 1M - - M25x1.5 | M16x1.5
2RB 430 H16 3~ 311 | 160 120 - -
2RB 430 H26 3~ - -
2RB 490 H16 3~ 311 | 160 120 - - M25x1.5 | M16x1.5
2RB510
2RB530 vz
2RB590 \
= YxZ 0
&
ES ‘
-~
=
/] N
L -
) \
- o
N K |8
— 7
F K
S M X-FLAz
AlB|C|DJE[F[G6| H|[J[KJL]IM[N]JO]o[Q]eaR[S] U Vo Vi Vier | Vi | Wz o | W
2RB 510 H06 3~ 334 | 337 | 120 | 260 | 295 | 314 | 160 | 175 | 120 | 115 | 155 | 96 | 87 | 48 | 55 | 83 | 14 4 M8x17 - - M25x1.5 M16x1.5 M8x20 0°/120°/240° 200 29
2RB 510 H16 3~ - -
2RB 510 H26 3~ 346 | 191 128 - -
2RB 510 H36 3~ - -
2RB 530 HO06 3~ 334 | 160 120 - - M25x1.5 M16x1.5
2RB 530 H16 3~ - -
2RB 530 H26 3~ 365 | 191 128 - -
2RB 530 H36 3~ - -
2RB 590 H26 3~ - - M25x1.5 M16x1.5

10 04/2010 FARSHARA



2RB610

V Vi
YxZ ' G
2RB630 — N\t W
2RB710 ] vow
2RB730 I — /D
2RB790 . NI
I YxZ
= S R R
] L
h=13
§¥
L L o /
R ] S
L
120°
o
2
e
>
z
e [Ek Xx-7Lfi
A B C D E F G H J K L M N 0 |eP| Q [ S U Va-) Vi Vi) Vi) YxZ oX w
2RB 610 HO6 3~ 360 | 366 | 122 | 284 | 325 | 354 | 191 | 192 | 128 | 140 | 180 | 64 74 56 | 56 | 93 13 | 45 | M8x17 - - M25x1.5 M16x1.5 M8x20 0°/120°/240° 226 29
2RB 610 H16 3~ - -
2RB 610 H26 3~ 385 | 188 135 M32x1.5 M32x1.5 M32x1.5 M32x1.5 42
2RB 630 HO6 3~ 372 | 191 128 - - M25x1.5 M16x1.5 29
2RB 630 H16 3~ - -
2RB 630 H26 3~ 403 | 188 135 M32x1.5 M32x1.5 M32x1.5 M32x1.5 42
2RB 710 HO6 3~ 382 | 384 | 125 | 290 377 | 191 | 197 | 128 84 | 109 | 54 | 55 | 83 15 - - M25x1.5 M16x1.5 | M10x20 240 29
2RB 710 H16 3~ - - - -
2RB 710 H26 3~ 409 | 188 135 M32x1.5 M32x1.5 M32x1.5 M32x1.5 42
2RB 710 H37 3~ 432 | 209 148
2RB 730 HO06 3~ 387 | 191 128 M25x1.5 M16x1.5 - - 29
2RB 730 H16 3~ - -
2RB 730 H26 3~ 419 | 189 135 M32x1.5 M32x1.5 M32x1.5 M32x1.5 42
2RB 730 H37 3~ 432 | 209 148
2RB 790 H26 3~ 377 | 185 128 - - M25x1.5 M16x1.5 29
I —
2RB520.-...4. h .
X
.5,
F 5150
2RB720.-..1. f - .
) i B
-3 = , -
=
1 = ok
_ = "
| s |20°
| ‘ 4
N — o
© 120
= \ \j
l 1
= I ]
Sl K e
I
= F
2RB720.-..4 R e A
-.5
<
jo)
2
g
8
@
>
%Ma&
) =2 iv2
M= ik X-FLr
AlN|BlC|D FlG H W[ J[K]L|M|[NJ[O|ePQeR|S|T| U vl v T v [ ow x| wz
2RB 520 H46 3~ 372 | 411| 371 | 60 | 260 | 295 | 465 | 190 | 175 | 144 | 135 | 115 | 155 | 98 | 171 | 48 | 55 | 83 | 14 4 | 116 | M8x17 | M32x1.5 ‘ M32x1.5 ‘ M32x1.5 ‘ M32x1.5 | 200 | M8x20 515171512915 42
2RB 520 H57 3~ 499 | 224
2RB 720 H16 3~ 426 | 426 | 410 | 63 | 290 | 325 | 473 | 191 | 197 | 162 | 128 | 140 | 180 | 84 | 205 | 53 15 | 45 | 130 M25x1.5 | M16x1.5 - - 240 | M10x20 29
2RB 720 H26 3~ 496 | 188 135 M32x1.5 | M32x1.5 | M32x1.5 | M32x1.5 42
2RB 720 H37 3~ 526 | 209 148
2RB 720 H47 3~ 154 | 290 571 | 226 167 200
2RB 720 H57 3~
11 04/2010 AR S H A



2RB740.-..3. 1

OX-3X 120°

PV-5064d

2RB740.-...4

PV-5065a

BS [Hf X-FLAL
A B C (o D E F G H J K L M N 0 P Q #R S o] \ BX YxZ
2RB 740 H37 3~ 420 | 410 | 125 - 290 | 325 | 526 | 209 | 197 | 148 | 140 | 180 84 205 | 153 55 83 15 64.5 M8x17 4xM32x1.5 240 M10x20 0°/120°/240°
2RB 740 H47 3~ - 308 571 | 226 | 257 | 167 200
2RB 740 H57 3~ -
A F .
——
2RB810./2RB830 o
\ f oY
U °© ° e E-
T }6)|Co @ ) <=
i ° | — !
Ly ’
lp,, o 2 N X ﬁ‘wr«*g
[ — —— 7
w N 3 -
2RB820.-...1. A ‘ p— 2RB820.-...3. o
Yxz 1
2. | e\ . HE -4 v
L — 17T J : o
TN B\ - = i
= / @ - <
\\J T = - s g )
/_L Z{ °Te o s H 120 \_S
= = c—] y—lz
BN = =
1
EIN ;| —
| ‘ ‘ =
—hopd— or - N K— &
o &
S W X-3LAiz
A A B B' C D E F F G H H J K L M N N’ 4] oP R N \ W oX YxZ
2RB 810 HO7 3~ 451 - 461 | 509 | 152 | 356 | 394 | 433 | 450 | 230 | 240 - 148 | 170 | 217 | 140 | 124 - 65 G2ir 15 6 4xM32x1.5 42 286 M12x20 0°/120°/240°
2RB 810 H17 3~ - 477 | 226 - 167 -
2RB 810 H27 3~ - - -
2RB 820 H17 3~ 500 | 549 | 490 | 509 | 76 545 | 589 199 - 236 | 84 51.4°1120°/240°
2RB 820 H27 3~ -
2RB 820 H37 3~ 694 | 318 197 - 212 105 4xM40x1.5 54
2RB 820 H47 3~ -
2RB 830 HO7 3~ 451 - 461 | 509 | 152 449 | 466 | 230 - 148 139 | 164 - 65 4xM32x1.5 42 0°/120°/240°
2RB 830 H17 3~ - 492 | 247 - 167 -
2RB 830 H27 3~ - - -
12 04/2010 ARSI A




2RB840.-...2.

2RB840.-...3.

xZ

i
< |

6X-3X 120" ——
PV-5064 V
I

-
| ol /O\ /
- S NG
[ I I 0
]
\
N
I
E
S AL X-FL iz
A B C c D E F G H J K L M N 0 oP #R S \ W [ YxZ
2RB 840 H27 3~ 500 550 152 - 356 394 589 247 300 167 170 217 - 236 | 125 | G2 15 66 4xM32x1.5 42 286 M12x20 0°/120°/240°
2RB 840 H37 3~ - 336 694 | 318 197 312 | 212 | 165 4xM40x1.5 54
: 2
d
2RB910./930 [
= YxZ ﬂ
1 /\ 0
™ - N
i - =/
=
i <= \
-/ ! | 1 o
r i T
-
F M-
i} —{ N K |
E F
= -
EIE= LEL P
AlB B clc D |EJFIF|F 6| H]J[K[N|[N]JO]® |a|eR|[S]| U v W X | w
2RB 910 HO7 | 3- | 550 | 569 | 55 | 207 | 15 | 360 | 415 | 525 | 644 | 605 | 268 | 300 | 167 | 533 | 39 | 89 | 92 | 100 | 150 | 15 | 21 | M12x30 | 4xM315 | 42 | 490 | M1230 | 0°120°7240°
2RB 910 H17 3~ 611 345 197 4xM40x1.5 54
2RB 910 H37 3~
2RB 930 HO7 3~ 563 | 682 | 643 | 268 167 127 4xM32x1.5 42
2RB 930 H17 3~ 649 345 197 4xM40x1.5 54
2RB 930 H37 3~
\ b
2RB920.
A F 8
| J
L
T () YxZ
| /E v e [0
K [ = = ~ l o¥—
ST 2 |G o
y / - D '
S
& LI = | N\& \< V
= - \ ﬂF &= bp .\
i i [ .
T i i
L p oR I
o
D N
£ F
= =
B bizkioa X-FLAL
aAlalele] clelolelrlrlrmlelnlr][J[c[M[N]o[op[alar[s[T] U v W o | v

2RB 920-7THH17 3~ | 615|780 | 607 | 16 | 1035 | 15 | 360 | 415 | 752 | 786 | 634 | 345 | 300 | 234 | 197 | 533 | 39 | 230 | 92 | 100 | 150 | 15 | 21 | 117 | M12x30 | 4xM40x1.5 | 54 | 490 | M12x30 51.4°1120°/240°

2RB 920-7THH27 3~

2RB 920-7THH37 3~

2RB 920-7THH47 3~ 812

13 04/2010 FHARSHERA



=

F 2
2RB940. 2
a
? ) Yxz ﬂ
4 \\ vz /} .
> A in A ‘)
= >
U el /K/ O\
. . < >
N © &~ T R
T . == b
© T —| :
o p T o) == S
—g— o
g Il
0 N
E Fr
= =
s AL X-FLAL
A B B1 C c' D E F F G H J K M N 0 9P | Q | oR S U \ W [28 YxZ
2RB 940 H27 3~ 615 | 657 | 16 207 | 15 | 360 | 415 | 752 | 786 | 345 | 350 | 197 | 533 | 39 | 280 | 142 | 100 | 140 | 15 7 M12x35 4xM40x1.5 54 490 M12x30 120°/60°/60°
2RB 940 H37 3~
2RB 940 H47 3 812
2RB943. e
FUBe Foot 1
Eili ik
A B [ D E F F’ F” G P P Q S U \ W YxZ
2RB 943 H27" 3 615 723 307 490 526 1201 848 578 291 219 135 201 58 M8x40 4XM40X1.5 54 M12x105
2RB 943 Ha7" 3
2RB 943 H47" 3 908 351
2RB 943:
e o s
ERTEISNRE
BERHZE 2
1 . o .
M BERR 2% : ey

MREHIZRIEMR 15°C=S, HESESI 1013mbar TR TMHE, RE
T10%, MAZSHMIFGRE @D 25CH, RATRHERBEE.

=i

RTHAIS AR RE L, BIBMEEN TN, BABTEA.

M - FREMEE - [ESIREBDIN EN 21680 F5f . SMEBHEEE 1K, SEHERO (E

71)

MAESO (AF) FEE—FRE, BRIREBER .

11 15
HR4R: 200436
FiE: 0086-21-36080730
£ 0086-21-63516736
E-mail :zhangao@zhangoco.com
http://ww.zhangoco.com



